
Math 392 Quiz 4B
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N。me: 4NSVJe12_S
lnstructions: No caicuiators! Answer址problems in the space provided! Do your rough work on scrap paper.

1 IfF=<P(硝′y′Z)′R(頼efine証票十等十誓　一言臆

2. LetSl beasurfece pa・ametrized byF(弘子y. Fi=d aformuiafora no「maI vector互toSl‥売1二

3. Let52 beas而acegivenbyz = h(X,y)・ Findafo「muIaforanormaivecto「売2tOS2:み=

4. Whatistheformulatocomputethea「eaofSIOVera「egionR・ A =

5. Whatisthefo「mulatocomputetheareaofS2 OVeraregionD. A二

6. Let斤こく-X2,0,2xz-COSX>.

(a) Computedit7斤=
○

士でふ×「V

_師:〃上二二

(b〉 D。。SFhaveav。。t。。。。,。ntial? t甚∫　　　(Y。S/N。)

(c〉 ifYOu「anSWe「 above is ′′No′′, W「ite ‘‘DNE当n the space provided. 1f ‘γes′′, then find a vector potential G for i In

doing so′ yOu mayaSSumethe z-COOrdinate of G is O, and setarbitrarY COnStantS Of integration to O when

COnVenient/appropriate.

。二心ce⊆X,清め。rくり定一叫。〉　霊葦罰
7. Set-uP integ「ais, With specific =mits, tO COmPutethe areas ofthefoiIowing surfaces:

(a)質s,t)=<st,S十t,S-t>,0≦s,t≦1:　A=
什十王(車とし) Js祝

(b) The pa直Ofthe hYPerboIicpa・aboioid z = y2 - X2 thatIiesbetweenthecyIinde「sx2 +y2 = 1,andx2 +y2 = 4:

A=

Bonus:

1. For51 above,define

2. For52 above, define

星

野

f(ちy,Z)d5 =

f(札y, Z)dS二

f何事∨))に言直A

f(棚,塙,の

(in this quiz, the less shorthand the better. Use as manyva「iabIes as possibie. Fo「exampie, When w「iting a

fo「muia fo「which you need a no「mal vecto「a, don’tjustwrite ′′子年but ratherthe formula used tofind it.〉


